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(4) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo
1) Cî‘m§H$, AÞ d nmofH$ KQ>H$
2) H$~m}XHo$
3) à{WZo
4) pñZ½Y nXmW©
5) jma d I{ZOo
6) OrdZgËd
7) nmofU H$m¶©H«$‘ d Amamo½¶
8) AÞYmÝ¶ nwadR>m d à{H«$¶m
9) AÞà{H«$¶m
10) AÞgwajm d H$m¶©H«$‘

1) Cî‘m§H$, AÞ d nmofH$ KQ>H$
1) EH$ 28 dfmªMr ‘{hbm EH$ ~¡R>r H$m‘Jma Amho. Vr 3 ‘{hÝ`m§À`m ‘wbmgh ñVZnmZ H$aUmar AmB© Amho. à{V{XZ

{H$bmoH°$barOÀ`m eoVmV {Vbm A§XmOo D$O}Mr JaO Imbrbn¡H$s H$moUVr Amho?
1) 1500 kcal/{Xdg 2) 2250 kcal//{Xdg 3) 2500 kcal//{Xdg 4) 2830 kcal//{Xdg

1) A 28 year old woman is a sedentary worker. She is a lactating mother with 3 month old child.

Which of the following is her approximate energy requirement in farms of kilocalories per day ?

1) 1500 kcal/day 2) 2250 kcal/day 3) 2500 kcal/day 4) 2830 kcal/day

2) H$_r emar[aH$ hmcMmc Agcoë`m ì`º$sMr D$O}Mr JaO A§XmOo .......... H°$carO AgVo.
1) 2500 2) 1000 3) 5000 4) 500

2) The energy requirement of a person having less physical activity is about _____ calories.

1) 2500 2) 1000 3) 5000 4) 500

3) Imbrbn¡H$s H$moUVo Cnm` {gñQ>o{‘H$ hm`naQ>oÝeZMm YmoH$m H$‘r H$aÊ`mg ‘XV H$ê$ eH$VmV?
a) AmhmamVrb gm‘mÝ` ‘rR>mMo godZ H$‘r H$aUo.
b) d`mZwgma dOZ {Z §̀{ÌV H$aUo
c) d¡̀ {º$H$ OrdZe¡brV ~Xb
d) Vm|S>r J ©̂{ZamoYH$ Jmoù`m§Mm dmna.
n¶m©¶r CÎmao …
1) a Am{U b ’$º$ 2) c Am{U d ’$º$ 3) a, b Am{U c ’$º$ 4) darbn¡H$s H$mhrhr Zmhr

3) Which of the following measures can help to reduce the risk of systemic hypertension ?

a) Reduction in dietary intake of common salt.

b) Controlling weight for age

c) Modification of personal lifestyle

d) Use of oral contraceptive pills.

Answer Options :

1) a and b only 2) c and d only 3) a, b and c only 4) none of the above
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4) OmñV nm¡{ï>H$ AÞnXmW© earamg ...... àXmZ H$aVmV.
1) H°$barO na§Vw H$‘r à‘mUmV gyú‘ nmofH$ KQ>H$
2) H$‘r H°$barO Am{U gd©gmYmaU OmñV à‘mUmV OrdZgÎd Am{U I{ZO (gyú‘ nmofH$ KQ>H$)
3) H$mhr à‘mUmV OrdZgËd Am{U OmñV H°$barO
4) ’$º$ H°$barO

4) Nutrient Dense Foods are those that provide body with ......

1) Calories but relatively small amounts of micronutrients

2) Substantial amounts of vitamins and minerals (micronutrients) and relatively few calories

3) Few vitamins and more calories

4) Only calories

5) XwYmV Ma~rMo à‘mU `mo½` H«$‘mZo {ZdS>m.
1) ‘|T>rMo XyY < åherMo XyY < eoirMo XyY < ‘mUgmMo XyY
2) ‘|T>rMo XyY > åherMo XyY > Jm`rMo XyY = ‘mUgmMo XyY
3) ‘|T>rMo XyY > åherMo XyY > eoirMo XyY > ‘mUgmMo XyY
4) ‘|T>rMo XyY > åherMo XyY > JmB©Mo XyY < ‘mUgmMo XyY

5) Choose the correct order of fat content in the milk.

1) Sheep’s milk < Buffalo’s milk < Goat’s milk < Human’s milk

2) Sheep’s milk > Buffalo’s milk > Cow’s milk = Human’s milk

3) Sheep’s milk > Buffalo’s milk > Goat’s milk > Human’s milk

4) Sheep’s milk > Buffalo’s milk > Cow’s milk < Human’s milk

6) Imbrbn¡H$s H$moUVo V¥UYmÝ` nrH$ AmOH$mb nmofH$ AÞYmÝ` åhUyZ AmoiIbo OmVo?
1) AmoQ²g 2) Jhÿ 3) Ádmar 4) ^mV

6) Which of the following cereal crop nowadays is recognized as “nutri-cereal ?

1) Oats 2) Wheat 3) Sorghum 4) Paddy

7) ‘°H«$moBbo‘|Q>g² åhUOo H$m¶ ?
1) Oo KQ>H$ H$‘r à‘mUmV bmJVmV 2) Oo KQ>H$ g‘ à‘mUmV bmJVmV
3) Oo KQ>H$ OmñV à‘mUmV bmJVmV 4) darbn¡H$s H$moUVohr Zmhr

7) What are macroelements ?

1) Elements required in small amounts 2) Elements required in equal amounts

3) Elements required in large amounts 4) None of the above

8) Imbrbn¡H$s H$moUVo A-nmofH$ ImÚ nXmW© AmhoV?
A) à{VO¡{dH$ ~) A±{Q>Am°pŠgS§>Q²g c) EÝPmBåg
n`m©¶r CÎmao :
1) A Am{U ~ ’$º$ 3) ~ Am{U H$ ’$º$ 3) darb gd© 4) H$mhrhr Zmhr

8) Which of the following are non-nutritive feed additives?

a) Antibiotics b) Antioxidants c) Enzymes

Answer Options :

1) a and b only 2) b and c only 3) all above 4) none
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2) H$~m}XHo$
1) EH$m gmYmaU àm¡T>mH$aVm nwT>rc XmoZ {dYmZm§n¡H$s H$moUVo ¶mo½¶ Amho?

A) a³VmV gd©gmYmanUo ½cwH$moOMo à‘mU CnmernmoQ>r 70 {‘J«° % n¶ªV Agmd¶mg hdo.
~) OodUmZ§VaMo a³VmVrc gd©gmYmaU ½cwH$moO à‘mU 140 {‘J«° % nmdoVmo Agmd¶mg hdo.
n¶m©¶r CÎmao …
1) ’$³V A 2) ’$³V ~ 3) XmoÝhr A Am{U ~ 4) XmoÝhr ZmhrV.

1) Which of the following statements with respect to an average to an average adult is/are correct?

a) The normal range of glucose in the blood while fasting is up to 70 mg %.

b) The normal range of glucose in the blood post lunch is up to 140 mg%

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) Neither a nor b

2) H$moUVo H$m~m}hm`SóQ> ’$º$ XwYmV AmT>iVo Am{U Ë`m‘wio XwYmnmgyZ ~Zdboë`m nXmWmª‘Ü ò Agy eH$Vo?
A) b°ŠQ>moO ~) J°boŠQ>moO H$) Pm`bmoO S>) ‘°ZmoO
n¶m©¶r CÎmao :
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A Am{U S> ’$º$ 4) A ’$º$

2) Which carbohydrate is only found in milk and thus can be present in foods made from milk ?

a) Lactose b) Galactose c) Xylose d) Mannose

Answer options :

1) a and b only 2) b and c only 3) a and d only 4) a only

3) goë ẁbmoO ho Jwam§gmR>r à‘wI AmhmamVrb H$m~m}hm`SóQ> AgVmZm Imbrbn¡H$s H$moUVo dmînerb ’°Q>r E°{gS> V`ma hmoVo?
1) EgrQ>oQ> 2) ã ỳQ>raoQ> 3) ìh°boaoQ> 4) àmo{n`moZoQ>

3) Whcich of the follwoing volatile fatty acid is produced when cellulose is the major dietary

carbohydrate for cattle ?

1) Acetate 2) Butyrate 3) Valerate 4) Propionate

4) H$moUË`m {nH$m§V gd©gmYmaU 15% gmIa AgVo ?
1) D$g 2) pñdQ> H$m°Z© 3) pñdQ> gmoaJ_² 4) ewJa {~Q>

4) Which crop contains about 15% sugar ?

1) Sugar cane 2) Sweet Corn 3) Sweet Sorghum 4) Sugar beet

5) gwH«$moOMo Eamo{~H$ Am°p³gS>oeZ hmoD$Z A{YH$V‘ {H$Vr ATP V¶ma hmoVmV?
1) 37 2) 44 3) 60 4) 50

5) The maximum yield of ATP from the complete oxidation of sucrose via aerobic respiration is

1) 37 2) 44 3) 60 4) 50

6) Imcrcn¡H$s H$moUVm {nï>‘` nXmW© S>m¶g°H¡$amBS> Amho?
1) ½cwH$moO 2) ’«$³Q>moO 3) gwH«$moO 4) goë¶wcmoO

6) Which of the following carbohydrates is a disaccharide?

1) Glucose 2) Fructose 3) Sucrose 4) Cellulose
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3) à{WZo
1) à{WZm§À`m H$‘VaVo‘wio ¹$m{eAmoaH$moa amoJ hmoVmo

1) 1 Vo 5 df} d`moJQ>mVrb ‘wbo 2) 4 Vo 7 df} d`moJQ>mVrb ‘wbo
3) 6 Vo 8 df} d`moJQ>mVrb ‘wbo 4) 2 Vo 8 df} d`moJQ>mVrb ‘wbo

1) Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years

3) children aged 6 to 8 years 4) children aged 2 to 8 years

2) JmB©À`m XwYm_Ü ò à{WZm§Mo à_mU .............% AgVo.
1) 2.58 2) 4.6 3) 3.58 4) 5.23

2) Average protien content of cow milk is ..........%.

1) 2.58 2) 4.6 3) 3.58 4) 5.23

3) ha^am {~`m_Ü ò à{WZmMo à_mU {H$Vr AgVo ?
1) 12.8% 2) 21.0% 3) 15.5% 4) 25.5%

3) The protein content in Gram Seed is ........... .

1) 12.8% 2) 21.0% 3) 15.5% 4) 25.5%

4) Vwar_Ü ò à{WZmMo à_mU eo. ...... AgVo.
1) 21 2) 22.3 3) 24 4) 24.3

4) The protein content in Tur Seed is ...... %.

1) 21 2) 22.3 3) 24 4) 24.3

5) Mm§Jë`m àVrMo nZra ¶m à{H«$¶oÛmao {‘iVo......
A) XyY 900 C da Ja‘ H$aUo, 700 C n ª̀V W§S> H$aUo.
~) XyY 1000 C n ª̀V Ja‘ H$aUo, 300 C n ª̀V W§S> H$aUo.
H$) Am{U 10% gm`{Q´H$ E°{gS>Mo ÐmdU KmbyZ Ja‘ XwYmMo AmåbrH$aU H$aUo.
S>) Am{U 1% gm`{Q´H$ E°{gS> ÐmdU KmbyZ Ja‘ XwYmMo AmåbrH$aU H$aUo.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV?
1) A Am{U H$ 2) A Am{U S> 3) ~ Am{U H$ $ 4) ~ Am{U S>

5) A good quality paneer is obtained by

a) heating milk to 900 C, cooling to 700 C.

b) heating milk to 1000 C, cooling to 300 C.

c) and acidifying hot milk by adding 10% citric acid solution.

d) and acidifying hot milk by adding 1% citric acid solution.

Which of the statement/s given above is/are correct?

1) a and c 2) a and d 3) b and c 4) b and d

6) A°{Z{‘`m ‘wº$ ^maV A§VJ©V {H$emoad`rZ ‘wbm§Zm H$moUË`m dma§dmaVoZo bmoh nyaH$ Amhma {Xbm OmVmo?
1) IFA Q>°ãboQ> (60 mg KQ>H$ bmoh + 500 mcg ’$m°{bH$ A°{gS>) gmám{hH$
2) IFA Q>°ãboQ> (100 mg KQ>H$ bmoh + 500 mcg ’$m°{bH$ A°{gS>) Xa ‘{hÝ`mbm
3) XaamoO 1 IFA Q>°ãboQ>
4) darbn¡H$s H$mhrhr Zmhr
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6) Under Anaemia Mukt Bharat which iron supplementation is given to abdolescents with what

frequency ?

1) IFA tablet (60 mg elements iron + 500 mcg Folic Acid) weekly

2) IFA tablet (100 mg elemental iron + 500 mcg Folic Acid) every month

3) Daily 1 IFA tablet

4) None of the above

7) J§YH$ (gë’$a) ¶m nmofU ‘ybÐì¶mnmgyZ ~Zbobr A{‘Zmo Amåbo H$moUVr ?
1) ë¶y{gZ Am{U Am¶gmoë¶y{gZ 2) {‘{WAmoZmBZ Am{U {gpñQ>Z
3) A°gnmQ>uH$ A°{gS> Am{U ½byQ>m‘mB©Z 4) ìh°{bZ Am{U ½byQ>m{‘H$ A°{gS>

7) Which of the following are Sulphur (S) element containing amino acids ?

1) Leucine and Isoleucine 2) Methionine and Cysteine

3) Aspartic acid and Glutamine 4) Valine and Glutamic acid

8) S>m`nopßQ>{S>b noßQ>rS>oO IV ho ......... ¶m ñdénmMo àmoQ>rO Amho.
1) W«mo{ZZ 2) A°ñnm{Q©>H$ 3) {gpñQ>Z 4) goarZ

8) Dipeptidyl peptidase IV is a ......... protease.

1) Threonine 2) Aspartic 3) Cysteine 4) Serine

9) ìhmB©Q> ~Q>Z ‘eê$åg²Mo d¡km{ZH$ (Ordemór¶) g§~moYZ ...... Ago Amho.
1) ßbyamoQ>g âbmo[aS>m 2) ìhmoëìhm[aEbm ìhmoëìhm{gEB©
3) AJ°[aH$g ~m¶ñnmoag 4) E[a‘moWo{e¶‘ A°í~r

9) White Button Mushrooms are scientifically (Biologically) named as

1) Pleurotus f!orido 2) Volvoriella volvoceae

3) Agaricus bisporus 4) Eremothecium oshbyi

10) VmOo H$mnboë`m ‘m§gmÀ`m n¥ð>^mJmÀ`m D$VtMo d¡{eï²>`nyU© Am{U S>moù`m§Zm AmH$f©H$ M‘H$Xma bmb a§J H$maUr ŷV Amho.
A) Am°pŠg‘m¶mo½bmo{~Z ~) Am°pŠg{h‘mo½bmo{~Z
H$) Am°pŠg‘m¶mo½bmo{~Z Am{U Am°pŠg{h‘mo½bmo{~Z S>) H$mhrhr Zmhr
Imbrbn¡H$s H$moUVo ~amo~a Amho?
1) ’$º$ A 2) ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

10) The characteristic and eye appealing bright red colour of the surface tissues of freshly cut meat is

due to ......

a) Oxymyoglobin b) Oxyhaemoglobin

c) Oxymyoglobin and oxyhaemoglobin d) None

Which of the following is correct?

1) a only 2) b only 3) c only 4) d only

11) bopŠQ>Z (ho‘°½½bw{Q>{ZZ) àW‘ Ea§S>ob/H°$ñQ>a ~rÝgnmgyZ doJio Ho$bo Jobo, Ë`m‘Ü ò [a{gZ ZmdmMo e{º$embr bopŠQ>Z
AgVo. eoVmVrb newYZm§Zm [a{gZ ẁº$ gãgQóQ>Mm Amhma {Xë`mg Ë`mMm .......... Agm {dnarV n[aUm‘ hmoVmo.
A) dmT> Am{U A{Vgma
~) nmofH$ VËdm§Mo emofU H$‘r hmoUo Am{U ~°ŠQ>o[a`mMm g§gJ© dmT>Uo.
H$) amoJà{VH$ma àUmbr.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) A ’$º$ 2) ~ Am{U H$ ’$º$ 3) A Am{U H$ ’$º$ 4) A, ~ Am{U H$
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11)  Lectins (Haemagglutinins) were first isolated from caster beans, which contains potent lectin

called ricin. Feeding of substrate containing ricin to farm livestock have adverse effect on .......

a) Growth and diarrhoea

b) Decreased nutrient absorption and increased bacterial infection.

c) Immune system.

Which of the statement given above is/are correct?

1) a only 2) b and c only 3) a and c only 4) a, b and c

12) ''{S>PmBZa EJ'' ho A§S>o Amho Á`m‘Ü ò {d{dY V§Ìm§Mm dmna H$ê$Z ‘mZH$ A§S>çmVyZ nmofH$ KQ>H$m§‘Ü ò ~Xb Ho$bo
OmVmV.
A) H$m|~S>çm§‘Ü ò M`mnM` ~Xb KS>dyZ AmUUo.
~) A§S>çm§‘Ü ò g§̀ wJm§Mr hmbMmb gwb^ H$aÊ`mgmR>r nS>Xm dmhVwH$sMr d¡{eï²> ò ~XbyZ.
H$) H$m|~S>rÀ`m AmhmamV ’o$a’$ma H$ê$Z BpÀN>V g§̀ wJo A§S>çm‘Ü ò àdoe H$aVmV.
Imbrbn¡H$s H$moUVo ~amo~a Amho?
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A, ~ Am{U H$ 4) darbn¡H$s Zmhr

12) The "Designer Egg" is the egg in which the nutrient content has been modified from the standard

egg by using various techniques like.

a) By inducing metabolic changes in the hen.

b) By changing the characteristics of membrane transport to facilitate movement of compounds

into the eggs.

c) By manipulating the diet of the hen such that the desired compounds find their way into the

egg.

Which of the following is correct?

1) a and b only 2) b and c only 3) a, b and c 4) None

13) ŵB©_yJ e|JXmÊ`mV ID$Q>nUm ({~Q>aZog) ........... _wio òVmo.
1) A°crc àmonrc S>m`gë\$mB©S> 2) {~Q>mQ>m°pŠPZ
3) A°âcmQ>m°pŠPZ 4) cm`H$monoZ

13) The bitterness or kernel in Groundnut is due to ......

1) Allyl propyl disulphide 2) Butatoxin

3) Aflatoxin 4) Lycopene

14) ’$im§À¶m d ^mÁ¶m§À¶m {dV§MH$s¶ Vm§~wgrH$aUmg Vnm{H$arnUm H$maUr ŷV ‘w»¶ {dV§MH$ H$moUVo?
1) noam°p³gS>oO 2) nm°{b’o$Zm°b Am°p³gS>oO
3) H°$Q>°boO 4) H$moboñQ>oam°b Am°p³gS>oO

14) The key enzyme involved in enzymatic browning of fruits and vegetables is

1) Peroxidase 2) Polyphenol oxidas

3) Catalase 4) Cholesterol oxidase
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15) ''gÜ¶m OmJ{VH$ nmVirda VmÁ¶m Am{U Mm§Jë¶m àVrÀ¶m ’w$bm§Mr ‘mZdr Amhmam§V dmT>Ë¶m à‘mUm§V ‘mJUr Amho.''
darb {dYmZ {ZåZ {ZX}erb g§̂ mì¶ Cn¶wº$Voda AmYm[aV AgyZ Ë¶mn¡H$s EH$ ''darb {dYmZmÀ¶m'' g§X^m©Zo g§¶wº$sH$
Zmhr.
g§¶wº$sH$ Zgbobo H$maU AmoiIm.
1) ’w$bm§‘Ü¶o Z¡g{J©H$arË¶m A°ÝQ>rAm°³grS>§Q> d An‘mO©Z (Á¶m‘Ü¶o {H«$¶merb Am°p³gOZ An‘mO©Z H$aÊ¶mMr j‘Vm)

H$m¶©j‘Vm AgVo.
2) ’w$bm§‘Ü¶o ''AÝWmogm¶ZrZ'' àMya à‘mUmV AgVo.
3) ’w$b§ AmH$f©H$ AgyZ namJU à{H«$¶oV ghmæ¶ H$aVmV.
4) ’w$b§ ‘hÎdmMr OrdZgÎdo d I{ZOm§Mm ({‘Zaëg) òmoV Amho.

15) "Currently there is increased demand for fresh and good quality flowers for human consumption

worldwide".

The above statement is based on the following potential values of flowers.

Which one is not appropriate with the context of above statement.

1) Flowers are endowed with natural antioxidants and scavenging activity of reactive oxygen

radicals.

2) Flowers are rich source of Anthocyanins.

3) Flowers are attractive and help in pollination mechanism.

4) Flowers are important source of vitamins and minerals.

4) pñZ½Y d ‘oX nXmW©
1) Xoer JmB©À`m XwYmVrc gamgar pñZ½Ym§e {H$Vr AgVmo ?

1) 4.5 Vo 5.5% 2) 4 Vo 4.3% 3) 3.5 Vo 4.5% 4) 3 Vo 4%
1) The average fat content of indigenous cow milk is .....

1) 4.5 to 5.5% 2) 4 to 4.3% 3) 3.5 to 4.5% 4) 3 to 4%

2) {gg°__ B§{S>H$‘ Ec. (Vri) {nH$m_Ü ò {H$Vr Q> o̧$ VocmMo à_mU AgVo ?
1) 30 Vo 35% 2) 35 Vo 38% 3) 25 Vo 30% 4) 45 Vo 50%

2) What is the oil content in Sesamum indicum L. ?

1) 30 to 35% 2) 35 to 38% 3) 25 to 30% 4) 45 to 50%

3) {VimÀ`m {~`m§_Ü ò VocmMo à_mU ............ Q> o̧$ AgVo.
1) 20-22 2) 40-42 3) 38-40 4) 46-52

3) The oil content in Sesamum seed is ..........%.

1) 20-22 2) 40-42 3) 38-40 4) 46-52

4) Imcrcn¡H$s H$moUË`m OmVrÀ`m åh¡erÀ`m XwYmV OmñVrV OmñV pñZ½YmMo à_mU AgVo?
1) gwaVr 2) n§T>anwar 3) Om\$am~mXr 4) {X„r-_wèhm

4) Which of the following buffalo breeds have more fat content in milk ?

1) Surti 2) Pandharpuri 3) Jaffarabadi 4) Delhi-Murrah
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5) Imbrbn¡H$s VQ>ñW {b{nS²g H$moUVo?
1) Q´m`{gbp½bgamoëg 2) ’$m°ñ’$mo{b{nS²g
3) ½bm`H$mo{b{nS²g 4) Am{H©$~°ŠQ>o[a`b BWa {b{nS²g

5) Which of the following is neutral lipids?

1) Triacylglycerols 2) Phospholipids

3) Glycolipids 4) Archaebacterial ether lipids

6) Imcrcn¡H$s H$moUVo H$mocoñQ>oam°c ho Mm§Jco H$mocoñQ>oam°c åhUyZ Am|iIco OmVo ?
1) LDL H$mocoñQ>oam°c 2) VLDL H$mocoñQ>oam°c
3) LDL d VLDL H$mocoñQ>oam°c 4) HDL H$mocoñQ>oam°c

6) Which of the following cholesterol is considered as good cholesterol ?

1) LDL cholesterol 2) VLDL cholesterol

3) LDL and VLDL cholesterol 4) HDL cholesterol

7) emH$mhmar ‘oXm‘Ü¶o ...... AgVo d Vo ImocrÀ¶m Vmn‘mZmcm ...... AgVo.
1) Ag§V¥á ‘oX Amåc; Ðd 2) g§V¥á ‘oX Amåc; Ðd
3) g§V¥á ‘oX Amåc; KZ 4) g§V¥á ‘oX Amåc; KZ

7) Vegetable fats contain ...... and are ...... at room temperatures.

1) Unsaturated fatty acids; liquid 2) Saturated fatty acids; liquid

3) Unsaturated fatty acids; solid 4) Saturated fatty acids; solid

8) Z¡g{J©H$ òmoVmVrb H$moUË¶m KQ>H$mnmgyZ Ma~r Am{U Vob {‘iVo?
1) H$m~m}XHo$ 2) {b{nS>  3) à{WZ 4) Q>{n©Z

8) Fats and oils belong to the naturally occurring group of compounds called

1) Carbohydrates 2) Lipids 3) Proteins 4) Terpenes

9) Imcrc {dYmZm§Mm {dMma H$am .
A)Cƒ KZVm Agcoë`m cm`nmoàmoQ>rZcm dmB©Q> H$mocoñQ>oam°c åhUVmV.
~) Cƒ KZVm cm`nmoàmoQ>rZ_wio A{V[aº$ H$mocoñQ>oam°c amo{hUrÀ`m AmV gmMVo Am{U amo{hUr ~§X hmoD$ eH$Vo, ßcmH$

V`ma hmoD$Z amo{hUr H$m{R>Ê` gwé hmoD$ eH$Vo.
AmVm gm§Jm H$s :
1) XmoÝhr {dYmZo ~amo~a d Xþgao {dYmZ n{hë`m {dYmZmMo `mo½` ñnï>rH$aU Amho.
2) XmoÝhr {dYmZo MwH$sMr AmhoV
3) XmoÝhr {dYmZo ~amo~a na§Vw Xþgao {dYmZ n{hë`m {dYmZmMo `mo½` ñnï>rH$aU Zmhr.
4) n{hco {dYmZ ~amo~a na§Vw Xþgao MyH$.

9) Consider the following statements.

a) Cholesterol packed in High density lipoprotein is called bad cholesterol.

b) High density lipoprotein builds up cholesterol and cause blockage of arteries. It can also lead

to plaque formation and start atherosclerosis.

Now state whether.

1) Both the statements are correct in High density lipoprotein is called bad cholesterol

2) Neither of the statements is correct.

3) both the statements are correct but the second is not the correct explanation of the first.

4) The first statement is correct not the second
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5) jma - ‘°H«$mo d gyú‘ nmofU Ðì¶o
1) ‘hmamï´> H$maImZm {Z`‘, 1963 Zwgma, àË òH$ H$maImÝ`mVrb H$m‘Jmam§gmR>r {nÊ`mÀ`m nmÊ`mMo à‘mU H$maImÝ`mV

H$m ©̀aV Agboë`m àË òH$ H$m‘JmamgmR>r {H$‘mZ ______ EH$ {Xdg Agbo nm{hOo Am{U Ago {nÊ`mMo nmUr H$m‘
H$aVmZm Zoh‘r ghO CnbãY Agmdo. Vmg
1) 1 {bQ>a 2) 2 {bQ>a 3) 5 {bQ>a 4) 3 {bQ>a

1) As per Maharashtra Factories Rules, 1963, the quantity of drinking water to be provided for the

workers in every factory shall be at least ________ a day per worker employed in the factory and

such drinking water shall be readily available at all times during working hours.

1) 1 litre 2) 2 litres 3) 5 litres 4) 3 litres

2) Vrd« A{VgmamÀ`m àg§JmZ§Va 6 ‘{hÝ`m§nojm H$‘r d`mÀ`m ~mbH$m§gmR>r WHO Am{U UNICEF Ûmao {H$Vr qPH$
gpßb‘|Q>Mr {e’$mag Ho$br OmVo?
1) 10 {Xdgm§gmR>r XaamoO 20 {‘brJ«m‘ 2) 10 {Xdgm§gmR>r XaamoO 10 {‘brJ«m‘
3) 7 {Xdg 5 {‘J«° à{V{XZ 4) 7 {Xdg 6 {‘J«° à{V{XZ

2) How much zinc supplement is recommended by WHO and UNICEF for infants less than 6 months

of age after an episode of acute diarrhoea ?

1) 20 mg per day for 10 days 2) 10 mg per day for 10 days

3) 5 mg per day for 7 days 4) 6 mg per day for 7 days

3) {dÐmì`Vm H$‘r H$aUmao qH$dm I{ZOm§À`m dmnamV hñVjon H$aUmao nXmW© H$moUVo AmhoV?
A) bopŠQ>Ýg ~) Am°Šg°{bH$ E°{gS> c) ’$m`{Q>H$ E°{gS> S>) {Q´pßgZ
n`m©¶r CÎmao :
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

3) Which are the substances reducing solubility or interfering utilization of minerals?

a) Lectins b) Oxalic acid c) Phytic acid d) Trypsin

Answer Options

1) a only 2) a and b only 3) b and c only 4) c and d only

4) Imcrcn¡H$s H$emV H°$pëe`_Mo à_mU A{YH$ AgVo ?
1) S>mir 2) g\$aM§X 3) ImÚVoc (dZñnVrOÝ` Voc) 4) XyY

4) Which of the following contains more percentage of Calcium ?

1) Pulses 2) Apple 3) Vegetable Oil 4) Milk

5) nwT>rcn¡H$s H$moUVo jma earamVrc Amåc-jma (A°{gS>-~og) g§VwcZ amIVo?
1) H°$pëe¶‘ 2) gmo{S>¶‘ 3) nmoQ>°{e¶‘ 4) cmoh

5) Which one of the following regulates the acid-base balanced of the body?

1) Ca 2) Na 3) K 4) Fe

6) Imcrcn¡H$s ‘°H«$moÝ¶yQ´>r¶§Q> H$moUVo Amho?
1) ‘°¾o{eA‘ 2) ‘m°crãS>o{ZA‘ 3) ~moam°Z 4) qPH$

6) Which of the following is a macronutrient?

1) Mg 2) Mo 3) Bo 4) Zn
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7) Imcrcn¡H$s H$emg E§PmB©ågMm H$mo-’°$³Q>a Ago åhUVm ¶oB©c?
1) cmoh 2) OrdZgÎd -S> 3) à{WZo 4) H$~m}XHo$

7) Which of the following may be called as co-factor of an enzyme?

1) Iron 2) Vitamin-D 3) Proteins 4) Carbohydrate

8) S>m`nopßQ>{S>b noßQ>rS>oO IV ho ......... ¶m ñdénmMo àmoQ>rO Amho.
1) W«mo{ZZ 2) A°ñnm{Q©>H$ 3) {gpñQ>Z 4) goarZ

8) Dipeptidyl peptidase IV is a ......... protease.

1) Threonine 2) Aspartic 3) Cysteine 4) Serine

9) ‘¥Xÿ Xhr XwYmMo .......... ho d¡{eï²>` Amho
1) H$‘r Ho${gZ Am{U H°$pëe`‘ gm‘J«r 2) H$‘r Ho${gZ Am{U Cƒ H°$pëe`‘ gm‘J«r
3) Cƒ Ho${gZ Am{U H°$pëe`‘ gm‘J«r 4) Cƒ Ho${gZ Am{U H$‘r H°$pëe`‘ gm‘J«r

9) Soft curd milk is characterised by .........

1) Low casein and calcium content 2) Low casein and high calcium content

3) High casein and calcium content 4) High casein and low calcium content

10) N>mZm V`ma H$aÊ`mgmR>r H$moUVo XyY Mm§Jbo Amho?
1) Jm`rMo XyY 2) åherMo XyY 3) eoirMo XyY 4) C§Q>mMo XyY

10) Which milk is best for preparation of Chhana ?

1) Cow milk 2) Buffalo milk 3) Goat milk 4) Camel milk

11) åherÀ`m XwYm~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) JmB©À`m XwYmÀ`m Ma~rnojm åherÀ`m XwYmÀ`m ’°Q>‘Ü ò g°nmo{Z{’$Ho$eZ ìh°ë ỳ Am{U {dViÊ`mMm q~Xy OmñV AgVmo.
b) JmB©À`m XwYmMr Ma~r åherÀ`m XwYmÀ`m Ma~rnojm ã ẁ{Q>[aH$ Am{U Amo{bH$ E°{gS>‘Ü ò OmñV AgVo.
c) åherÀ`m {‘goba Ho${gZÀ`m H$Um§Mm AmH$ma JmB©À`m ‘m`Ho$bnojm ‘moR>m AgVmo
n¶m©¶r CÎmao …
1) a Am{U c ~amo~a AmhoV 2) b Am{U c ~amo~a AmhoV
3) a Am{U b ~amo~a AmhoV 4) gd© MwH$sMo AmhoV

11) Which of the following statements are correct about buffalo milk ?

a) Buffalo milk fat has a higher saponification value and melting point than cow milk fat.

b) Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.

c) The particle size of buffalo miscellar casein is larger than that of cow micelle

Answer options :

1) a and c are correct 2) b and c are correct

3) a and b are correct 4) All are incorrect

12) nwT>rcn¡H$s H$moUVo jma earamVrc Amåc-jma (A°{gS>-~og) g§VwcZ amIVo?
1) H°$pëe¶‘ 2) gmo{S>¶‘ 3) nmoQ>°{e¶‘ 4) cmoh

12) Which one of the following regulates the acid-base balanced of the body?

1) Ca 2) Na 3) K 4) Fe
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13) Imcrcn¡H$s H$emg E§PmB©ågMm H$mo-’°$³Q>a Ago åhUVm ¶oB©c?
1) cmoh 2) OrdZgÎd-S> 3) à{WZo 4) H$~m}XHo$

13) Which of the following may be called as co-factor of an enzyme?

1) Iron 2) Vitamin-D 3) Proteins 4) Carbohydrate

14) Amamo½¶ Am{U Amhma{df¶H$ H$mhr {dYmZo Imbr {Xbobr AmhoV …
A) Vm§~o hm ‘mZdr earamg Amdí¶H$ Agm gyú‘ AÞKQ>H$ Amho.
~) A Am{U S> OrdZgÎdo nmÊ¶mV {daKiVmV.
H$) pñZ½Y nXmWmªMm Cî‘m§H$ 9.3 {H$bmoH°$bar à{V J«m‘ Amho.
S>) H$ OrdZgÎdmÀ¶m A^mdm‘wio ñH$ìhu hm amoJ hmoVmo.
darbn¡H$s H$moUVo {dYmZ/~amo~a Amho/V ?
1) ’$º$ A 2) ’$º$ S> 3) ’$º$ ~ Am{U 4) ’$º$ A, H$ Am{U S>

14) Some statements regarding health and nutrition are given below :

a) Copper is an essential micronutrient for the human body.

b) Vitamins A and D are water soluble

c) Caloric value of lipids in 9.3 kcal/g.

d) Deficiency of Vitamin C causes scurvy.

Which of the above statements is/are correct?

1) Only a 2) Only d 3) Only b and c 4) Only a, c and d

6) OrdZgÎdo
1) chmZ ‘wcm§‘Ü¶o OrdZgÎd 'S>r' Mo à‘mU EdT>o cmJVo ............

1) 200-400 {‘J«° 2) 20-40 IU 3) 200-400 IU 4) 200-400 ‘m¶H«$moJ«°‘
1) Requirement of Vitamin 'D' in child is ................. .

1) 200-400 mg 2) 20-40 IU 3) 200-400 IU 4) 200-400 ug

2) OrdZgÎdm§Mo dJuH$aU Ago Ho$co OmVo ............
1) g|{Ð¶ Am{U Ag|{Ð¶ 2) Ma~r‘Ü¶o {daKiUmar Am{U nmÊ¶mV {daKiUmar
3) AË¶mdí¶H$ Am{U AZmdí¶H$ 4) g§V¥á Am{U Ag§V¥á

2) Vitamins are classified as .............

1) Organic and Inorganic 2) Fat and Water soluble

3) Essential and Nonessential 4) Saturated and Unsaturated

3) dZñn{VOÝ` AÞnXmWm©‘Ü¶o ao{Q>Zm°cÀ¶m EodOr Imcrc amgm¶{ZH$ KQ>H$ AgVo :
1) H$aHw$‘rZ 2) H$aHw$‘rZm°B©S> 3) H°$amoQ>rZ 4) H°$amo{Q>Zm°B©©S>

3) In vegetable foods, instead of Retinol following chemical is present :

1) Curcumine 2) Curcuminoid 3) Carotene 4) Carotenoid
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4) Imcrc dm³¶o ZrQ> Aä¶mgm :
a) ao{Q>Zm°c, Wm`{‘Z, [a~moâco{dZ Am{U H$moco-H°$c{g’o$am°c hr OrdZgÎdo AmhoV.
b) OrdZgÎdo H$‘r à‘mUmV Oéar AgVmV.
c) A°gH$m°{~©H$ Amåc, ao{Q>Zm°c Am{U ³cmoamo’$sZ hr OrdZgÎdo AmhoV.
d) OrdZgÎd 'A' Mo Oéarnojm OmñV J«hU H$aUo ho amVm§YionUmg H$maUr ŷV hmoVo.
darcn¡H$s H$moUVo n¶m©¶/n`m©¶o gË¶ AmhoV ?
1) (a), (b) Am{U (d) ho gË¶ AmhoV 2) (c) Am{U (b) ho AgË¶ AmhoV
3) (c) Am{U (d) ho AgË¶ AmhoV 4) (a), (b) Am{U (c) ho gË¶ AmhoV

4) Read the following statements :

a) Retinol, Thiamin, Riboflavin and Cholecalciferol are Vitamins

b) Vitamins are needed in small quantities

c) Ascorbic acid, Retinol and Chlorofin are Vitamins

d) Excessive intake of vitamin 'A' can lead to night blindness

Which of the option given above is/are correct ?

1) (a), (b) and (d) are true 2) (c) and (b) are false

3) (c) and (d) are false 4) (a), (b) and (c) are true

5) ...... _wio XþYmMm a§J {ndiga hmoVmo.
1) [a~moâco{dZ 3) c°ŠQ>moO 3) Zm`{gZ 4) H°$amoQ>rZ

5) ...... is responsible for yellow colour of milk.

1) Riboflavin 2) Lactose 3) Niacin 4) Carotene

6) amVm§YionUm hm ....... `m OrdZgËËdmÀ`m H$_VaVo_wio hmoVmo.
1) OrdZgÎd-S> 2) OrdZgÎd-~ 3) OrdZgÎd-A 4) OrdZgÎd-H$

6) Night blindness is caused by the deficiency of ..............

1) Vitamin - D 2) Vitamin - B 3) Vitamin - A 4) Vitamin - C

7) JmB©Mo XyY hcHo$ {ndiga Amho H$maU Ë`m_Ü ò ...... Amho.
1) H°$amoQ>rZ 2) Ho${gZ 3) [a~moâco{dZ 4) c°ŠQ>moO

7) Cow milk is light yellowish, due to presence of ......

1) Carotene 2) Casein 3) Riboflavin 4) Lactose

8) qcJn[ad{V©V Vm§Xÿi Omo ""gmoZoar Vm§Xÿi'' åhUyZhr AmoiIcm OmVmo, Ë¶mV ‘w»¶Ëdo H$m¶ AgVo?
1) A°ÝWmogm¶ZrZ 2) {~Q>m-H°$amoQ>rZ 3) A½cyQ>rZrZ 4) {h‘monm°B{Q>Z

8) The transgenic rice, popularly called as "Golden Rice" contains good quantities of

1) Anthocyanins 2) b-carotene 3) Agglutinin 4) Haemopoietin

9) JmoëS>Z amBg `m ^mVmÀ`m g§H$arV dmUm_Ü ò ........... AÞKQ>H$ AgVmo.
1) {~Q>mH°$amoQ>rZ 2) ½cwQ>oZrZ 3) {Z`mgrZ 4) H$mocoñQ>oam°c

9) A Golden Rice Hybrid, variety of Paddy contains ...... nutrient.

1) Betacarotene 2) Glutenin 3) Niacin 4) Colesterol
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10) dZñn{VOÝ` AÞnXmWm©‘Ü¶o ao{Q>Zm°cÀ¶m EodOr Imcrc amgm¶{ZH$ KQ>H$ AgVo :
1) H$aHw$‘rZ 2) H$aHw$‘rZm°B©S> 3) H°$amoQ>rZ 4) H°$amo{Q>Zm°B©©S>

10) In vegetable foods, instead of Retinol following chemical is present :

1) Curcumine 2) Curcuminoid 3) Carotene 4) Carotenoid

11) Imbrbn¡H$s H$moUVo ‘ybÐì¶ pìhQ>°{‘Z ~r-12 ¶m OrdZgÎdmMm KQ>H$ Amho?
1) ‘mo{bãS>oZ‘ 2) H$mo~mëQ> 3) ‘±JoZrO 4) H$m°na

11) Which of the following elements is component of Vitamin B12 molecule?

1) Molybdenum 2) Cobalt 3) Manganese 4) Copper

12) Imcrcn¡H$s H$moUmMo CnCËnmXZ åhUyZ {ìhQ>m_rZ ~r12 Mo CËnmXZ Ho$co OmD$ eH$Vo ?
1) ñQ´>oßQ>mo_m`{gZ 2) Q>oQ´>m_m`{gZ 3) Q´>m`H$mo_m`{gZ 4) {ZAmo_m`{gZ

12) Vitamin B
12

 can be produced as a by-product of which one of the following ?

1) Streptomycin 2) Tetramycin 3) Trichomycin 4) Neomycin

13) pìhQ>m{‘Z ~r-12 Mo Imbrbn¡H$s òmoV H$moUVo AmhoV?
1) ‘m§g, ‘mgo, ¶H¥$V d bhmZ AmVS>çm‘Yrb {OdmUy 2) ‘eê$‘, YmÝ¶ d H$mOy
3) ^mH$ar, ^mV, ~«moH$mobr d gmo¶m~rZ 4) darbn¡H$s gd©

13) Sources of vitamin B-12 are

1) Meat, Fish, Liver and Bacteria in small Intestines

2) Mushrooms, Grains and Nuts

3) Bread, Rice, Broccoli and Soyabean

4) All of the above

14) Imbrb Jmoï>r Owidm Am{U `mo½` n`m©̀  {ZdS>m :
A) Vit. B1 I) hm`nahmo‘mo{gñQ>rZo{Z©̀ m
B) Vit. B3 II) ~oar~oar
C) Vit. B6 III) SACD

D) Vit. B12 IV) nobmJ«m
n¶m©¶r CÎmao …

A B C D

1) II III IV I

2) II IV I III

3) IV I III II

4) IV II I III

14) Match the following and select the correct option :

A) Vit. B1 I) Hyperhomocysteinernia

B)  Vit. B3 II) Beriberi

C) Vit. B6 III) SACD

D) Vit. B12 IV) Pellagra

Answer Options :

A B C D

1) II III IV I

2) II IV I III

3) IV I III II

4) IV II I III
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15) ...... _Ü ò 'gr' OrdZgÎdmMo à_mU A{YH$ Amho.
1) Amdim 2) ~moa 3) Ðmj 4) {gVm\$i

15) ...... is the richest source of vitamin 'C'.

1) Aonla 2) Ber 3) Grape 4) Custard apple

16) ............. _Yrc H$ OrdZgÎd ~mînZerc Zmhr.
1) qc~y 2) Q>mo_°Q>mo 3) Amdim 4) noê$

16) C vitamin in _________ is not volatile.

1) Lemon 2) Tomato 3) Awala 4) Guava

17) 'S>' OrdZgÎdmÀ`m A^mdm_wio ...... hmoVmo.
1) _wcm§_Ü ò _wS>Xyg 2) ~oar~oar 3) amVm§YionUm 4) A°Zr{_`m

17) Vitamin 'D' deficiency causes ......

1) Rickets in Children 2) Beri-Beri 3) Night blindness 4) Anaemia

18) Imcr {Xcoë¶m dm³¶m‘Yrc Hw$R>co dm³¶ ho OrdZgÎd 'D' À¶m ~m~VrV ImoQ>o Amho ?
1) OrdZgÎd 'D' ho ËdMo‘Ü¶o V¶ma hmoÊ¶mgmR>r gy¶©àH$memMr Oéar AgVo.
2) Oéarnojm OmñV OrdZgÎd 'D' ho KmVH$ ZgVo.
3) OrdZgÎd 'D' À¶m H$‘VaVo‘wio [aHo$Q>g hmoVmo.
4) OrdZgÎd 'D' ho Ma~r‘Ü¶o {daKiUmao AgVo.

18) Which of the following statement regarding Vitamin 'D' is false ?

1) Sunlight exposure is necessary for formation of Vitamin 'D' in skin.

2) Excess of Vitamin 'D' is not harmful

3) Deficiency of Vitamin 'D' leads to Rickets.

4) Vitamin 'D' is fat soluble

19) ...... ho earamVrc H°$pëeA‘ d ’$m°ñ’$agÀ¶m Am§V[aH$ ‘mÌogmR>r (emofUmgmR>r) O~m~Xma Amho.
1) OrdZgÎd A 2) OrdZgÎd S> 3) OrdZgÎd B© 4) OrdZgÎd Ho$

19) ...... is important for the absorption of calcium and phosphorus in the body.

1) Vitamin A 2) Vitamin D 3) Vitamin E 4) Vitamin K

20) 12 S> hr à{H«$¶m AÞmda Ho$ë¶mg ......
1) CîUVoMr à{H«$¶m Or 12 {OdmUy ‘maVo.
2) à{H«$¶m H$ê$Z AÞ gmR>{dÊ¶mÀ¶m 12 (~mam) {d{dY nÕVr.
3) ³bm°pñQ´>{S>¶‘ ~m°Q´>¶y{bZ‘ (Clostridium botulinum) Mm A§VJm}bmÀ¶m g§»¶oV 1012 nQ>rZo H$nmV hmoVo.
4) H$moUVrhr à{H«$¶m Or A{YH$ Vmn‘mZmbm {Od§V amhUmè¶m O§VyMm Zme H$aVo.

20) The 12D treatment on food refers to

1) Heat treatment sufficient to kill 12 bacteria.

2) The use of 12 (twelve) different treatments to preserve food.

3) A 1012 reduction of Clostridium botulinum endospores

4) Any process that destroys thermophilic bacteria.
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21) Imbrbn¡H$s H$moUVo OrdZgÎd Am°p³gS>oeZ à{V~§{YV H$aUmao Amho ?
1) OrdZgÎd E 2) OrdZgÎd S>r 3) OrdZgÎd B 4) OrdZgÎd Ho$

21) Which of the following vitamin acts as a anti oxidant ?

1) Vitamin A 2) Vitamin D 3) Vitamin E 4) Vitamin K

22) ............. ‘mZdr AmVS>çm§g§~§Yr ‘mJm©Vrb OrdmUy§Ûmao g§l²bo{fV Ho$bo OmVo.
1) pìhQ>°{‘Z S>r 2) pìhQ>°{‘Z gr 3) pìhQ>°{‘Z E 4) pìhQ>°{‘Z Ho$

22) .............. is synthesized by bacteria in the human intestinal tract.

1) Vitamin D 2) Vitamin C 3) Vitamin A 4) Vitamin K

23) Imcrc OmoS>çm Owidm - OrdZgÎdo d Ë¶m§À¶m A^mdr hmoUmao amoJ :
OrdZgÎdo A^mdmMo amoJ

A) A OrdZgÎd i) ‘wS>Xÿg
~) S> OrdZgÎd ii) ñH$ìhu
H$) H$ OrdZgÎd iii) aº$j¶
S>) ~r 12 OrdZgÎd iv) amVAm§YionUm
n¶m©¶r CÎmao …

A ~ H$ S>
1) iii ii iv i

2) iv i ii iii

3) i iv iii ii

4) ii iii iv i

23) Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease

a) Vit. A i) Rickets

b) Vit. D ii) Scurvy

c) Vit. C iii) Anaemia

d) Vit. B12 iv) Night blindness

Answer Options :

a b c d

1) iii ii iv i

2) iv i ii iii

3) i iv iii ii

4) ii iii iv i

24) Imbrb OrdZgËd Ë`m§À`m H$‘VaVoÀ`m bjUm§er Owidm.
A) Wm`{‘Z i) Jwam§‘Yrb dopñQ>§J {gH$Zog
~) nm`arS>m°pŠgZ ii) H$m|~S>r {n„m§‘Ü ò nm°brÝ ỳam¶{Q>g
H$)gm`ZmoH$mo~mbm{‘Z iii) Sw>H$am§‘Yrb JyP ñQ>on
S>) n°ÝQ>moWo{ZH$ E°{gS> iv) Sw>H$am§‘Yrb A°{Z{‘¶m Am{U AmHw§$MZ
n`m©¶r CÎmao :

A ~ H$ S>
1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (iv) (ii)
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24) Match the following Vitamin with their deficiency symptoms.

a) Thiamine i) Wasting sickness in cattle

b) Pyridoxine ii) Polyneuritis in chicks

c) Cyanocobalamin iii) Goose step in pigs

d) Pantothenic acid iv) Anaemia and convulsions in pigs

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (iv) (ii)

8) Amhma - H$wnmofU, AÞ Am{U nmofU H$m¶©H«$‘
1) EH$m A§S>çmnmgyZ ...... BVH$s H°$car D$Om© {_iVo.

1) 80 2) 85 3) 90 4) 95
1) ...... Calories energy is received from One egg.

1) 80 2) 85 3) 90 4) 95

2) H$_r emar[aH$ hmcMmc Agcoë`m ì`º$sMr D$O}Mr JaO A§XmOo .......... H°$carO AgVo.
1) 2500 2) 1000 3) 5000 4) 500

2) The energy requirement of a person having less physical activity is about _____ calories.

1) 2500 2) 1000 3) 5000 4) 500

3) gd©gm_mÝ` ^maVr`mcm XaamoO gamgar {H$Vr H°$carOMr JaO AgVo?
1) 5000 2) 10,000 3) 2000 4) 2250

3) What is the average requirement of calories for common Indian?

1) 5000 2) 10,000 3) 2000 4) 2250

4) _hmamï´>mV gZ 2008-09 _Ü ò XaS>moB© XwYmMr CncãYVm gmYmaUnUo {H$Vr hmoVr ?
1) 245 J«°_ 2) 120 J«°_ 3) 180 J«°_ 4) 150 J«°_

4) How much milk was available per capita in Maharashtra during 2008 - 09 ?

1) 245 gram 2) 120 gram 3) 180 gram 4) 150 gram

5) AmhmaemómZwgma _mUgmÀ`m XaamoOÀ`m AmhmamV XwYmMo à_mU {H$Vr Agmdo?
1) 100 J«°_ 2) 210 J«°_
3) 300 J«°_ 4) darcn¡H$s H$moUVohr Zmhr

5) As per dietary science, what should be the quantity of milk in daily diet of a human being ?

1) 100 gram 2) 210 gram

3) 300 gram 4) None of the above
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6) à{WZm§À`m H$‘VaVo‘wio ¹$m{eAmoaH$moa amoJ hmoVmo
1) 1 Vo 5 df} d`moJQ>mVrb ‘wbo 2) 4 Vo 7 df} d`moJQ>mVrb ‘wbo
3) 6 Vo 8 df} d`moJQ>mVrb ‘wbo 4) 2 Vo 8 df} d`moJQ>mVrb ‘wbo

6) Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years

3) children aged 6 to 8 years 4) children aged 2 to 8 years

7) OmJ{VH$ Amamo½¶ g§KQ>ZoZwgma, à{WZo d D$Om© ¶m‘wio hmoUmao Hw$nmofU hm àJ{Verc Xoem§À¶m gmd©O{ZH$ Amamo½¶mMm
gdm©V ‘hÎdmMm àíZ Amho H$s OoWo ZdOmV ~mbH$m§Mm ‘¥Ë¶yXa IynM Amho. Imbrbn¡H$s H$moUË¶m AdñWo‘Ü¶o ZdOmV
~mbH$m§Mr D$Om© d à{WZo ¶m§À¶m Hw$nmofUm‘wio Ajae… Cnmg‘ma hmoVo d Ë¶m§À¶m earamda gyO ZgVo ?
1) ¹$m°{eAmoaH$moa 2) ‘°a°ñ‘g 3) JmbJw§S> 4) Jmoda

7) According to WHO, protein malnutrition is the most important public health problem in developing

countries where the rates of infant mortality are very high. Which of the following is a condition

in which the infant is virtually starving due to lack of calories and proteins and there is no edema?

1) Kwashiorkor 2) Marasmus 3) Mumps 4) Measles

8) nmofU nwZd©gZ H|$Ð (NRC) ‘YyZ gmoS>Ê`mV Amboë`m J§̂ ra Vrd« Hw$nmofUmÀ`m ~mbH$mMo {ZarjU A§JUdmS>r go{dHo$Zo
(AWW) Imbrbn¡H$s H$moUË`m doimnÌH$mZwgma Ho$bo nm{hOo?
1) AmR>dS>çmVyZ EH$Xm n{hë`m ‘{hÝ`mgmR>r Am{U Z§Va AmR>dS>çmVyZ XmoZXm
2) n{hë`m ‘{hÝ`mV AmR>dS>çmVyZ XmoZXm Am{U Z§Va AmR>dS>çmVyZ EH$Xm
3) AmR>dS>çmVyZ EH$Xm n{hë`m ‘{hÝ`mV Am{U Z§Va n§YadS>çmVyZ EH$Xm
4) n{hë`m ‘{hÝ`mV AmR>dS>çmVyZ XmoZXm Am{U Z§Va n§YadS>çmVyZ EH$Xm

8) Child of severe acute malnutrition discharged from Nutritional Rehabilitation Centre (NRC)

should be observed in community by an Anganwadi Worker (AWW) as per which one of the

following schedules ?

1) Once a week for first month and then twice weekly

2) Twice weekly in the first month and then once a week

3) Once a week for first month and then once fortnightly

4) Twice weekly in the first month and then once fortnightly

9) ‘hmamï´>mVrb S>m°. AãXþb H$bm‘ A‘¥V Amhma ¶moOZm H$emer g§~§{YV Amho?
1)Am{Xdmgr ^mJmVrb Cƒ {ejU g§ñWm§‘Ü¶o Mm¡ag Amhma nwadÊ¶m~m~V
2)Am{Xdmgr ^mJmVrb ‘mÜ¶{‘H$ emioVrb JaOy {dÚmÏ¶mªZm Mm¡ag Amhma nwadÊ¶m~m~V
3)Am{Xdmgr ^mJmVrb J ©̂dVr Am{U ñVZXm ‘mVm§Zm Mm¡ag Amhma nwadÊ¶m~m~V
4)A§JUdmS>r go{dH$m§Zm Mm¡ag Amhma nwadÊ¶m~m~V

9) In Maharashtra, Dr. Abdul Kalam Amrut Ahar Yojana is related with

1) Providing square meal in higher education institutes in the tribal areas.

2) Providing square meal to the needy students in the secondary schools in the tribal areas.

3) Providing square meal to the pregnant and lactating mothers in the tribal areas.

4) Providing square meal to Anganwadi Sevikas.
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10) AÞ g_ñ`m gmoS>{dÊ`mgmR>r, {dH$gZerc Xoem§Zr B.g. 1966 _Ü ò H$moUVr `moOZm gwê$ Ho$cr ?
1) cmc H«$m§Vr 2) h[aV H«$m§Vr
3) g\o$X H«$m§Vr 4) nrV H«$m§Vr

10) What was introduced by the developing countries in 1966, to solve the problem of food?

1) Red revolution 2) Green revolution

3) White revolution 4) Yellow revolution

11) Nw>nr ŷH$ åhUOo ......
1) Ooìhm nmofH$ VËdm§Mr H$‘VaVm AgVo Voìhm H$‘VaVoMr bjUo {XgVmV.
2) H$‘VaVoMr bjUo {Xgbr Zgbr VargwÕm CËnmXZmV ’$ma ‘moR>r KQ> hmoD$ eH$Vo.
3) nmofH$ KQ>H$m§Mr H$‘VaVm ZgVmZmhr H$‘VaVoMr bjUo AmT>iVmV.
4) H$‘VaVoMr Ñí¶ bjUo BVa KQ>H$m§Ûmao Xm~br OmVmV.

11) “Hidden Hunger” means ......

1) Deficiency symptoms are seen when the nutrient is deficient

2) Severe yield reduction may occur without appearance of deficiency symptoms

3) The nutrient is not deficient but apparently seems to be deficient

4) Visual deficiency symptoms are suppressed by other elements

12) Imcrcn¡H$s H$moUË¶m KQ>H$m§Mm nwañH$ma ~mcH$m§À¶m dmT>rgmR>r ẁ{Zgo’$ H$aVo ?
a)$J«moW MmQ>© b)$Amo. Ama. Eg. c)$~«oñQ>-’$sS>§tJ
d)$Bå¶wZm¶PoeZ e)$³dma§Q>mB©Z
n¶m©¶r CÎmao :
1) (a) Am{U (e) 2) (a),(b),(e) Am{U (d)

3)(b),(c),(d) Am{U (e) 4) (a),(b),(c) Am{U (d)

12) Which of the following points are promoted by UNICEF for child development ?

a) Growth chart b) ORS c) Breast-feeding

d) Immunisation e) Quarantine

Answer Options :

1) (a) and (e) 2) (a) (b), (e) and (d)

3) (b), (c), (d) and (e) 4) (a), (b), (c) and (d)

13) ñWm{ZH$ nmVirdaMm XwîH$mi Am{U Iwë`m Hw$nmofUmnmgyZ Xya amhUo ho ................ Mo à‘wI C{Ôï> Amho.
1) AÞ gwajm 2) ñd §̀nyU©Vm
3) AÞ YmoaU 4) VyQ> CËnmXZ

13) To avoid localised widespread famine and open undernutrition is one of the principal objectives

of ................

1) food security 2) self-sufficiency

3) food policy 4) deficit production
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AÞYmÝ¶ nwadR>m d à{H«$¶m
1) ........ gmbmÀ¶m ‘Ü¶mn ª̀V, Am`mV Ho$bobo AÞYmÝ`, gmd©O{ZH$ {dVaU àUmbr A§VJ©V ‘moR>çm à‘mUmV nwa{dbo Jobo.

1) 1965 2) 1970 3) 1975 4) 1980
1) Upto mid ............, the Public Distribution System was fed to a considerable extent by imported

foodgrains.

1) 1965 2) 1970 3) 1975 4) 1980

2) Xw½Yì`dgm`mV gdm©V gm‘mÝ` nmíMam`PoeZ ........... òWo Ho$bo OmVo.
1) 15 goH§$Xm§gmR>r 72°C 2) 3 goH§$Xm§gmR>r 63°C

3) 5 goH§$Xm§gmR>r 72°C 4) 1 goH§$XmgmR>r 85°C

2) The most common pasteurization followed in dairy is carried out at ...........

1) 72°C for 15 seconds 2) 63°C for 3 seconds

3) 72°C for 5 seconds 4) 85°C for.1 second

3) nmdgmda Adb§~yZ eoVr àXoemVyZ OJmg EHy$U ImÚmÝ¶mÀ¶m ....... Q> o̧$ AÞnwadR>m hmoVmo.
1) 50 2) 60 3) 70 4) 75

3) ........ percent of world’s staple food is harvested from rainfed areas.

1) 50 2) 60 3) 70 4) 75

4) 1995 ‘Ü ò JìhmMr IaoXr 1965 À`m VwbZoV ......... nQ>tZr dmT>br.
1) 27 2) 30 3) 33 4) 36

4) The procurement of wheat in 1995 increased by ............. fold from that of 1965.

1) 27 2) 30 3) 33 4) 3

5) ^maVmVrb gmd©O{ZH$ {dVaU àUmbr‘Ü ò AÞYmÝ`mMr IaoXr, {dVaU Am{U gmR>dUyH$ H$aUmar ZmoS>b EOÝgr
H$moUVr?
1) JmoS>mD$Z {dH$mg Am{U {Z`m‘H$ àm{YH$aU
2) Z°eZb A°{J«H$ëMab H$moAm°nao{Q>ìh ‘mH}$qQ>J ’o$S>aoeZ Am°’$ B§{S>`m {b
3) ^maVr` AÞ ‘hm‘§S>i
4) amÁ` nUZ ‘§S>i

5) In Public Distribution System in India which is the nodal agency that undertakes procurement,

distribution and storage of food grains ?

1) Warehousing Development and Regulatory Authority

2) National Agricultural Cooperative Marketing Federation of India Ltd

3) Food Corporation of India

4) State Marketing Board

6) qb~ydJu` ag H$mT>Ê`mgmR>r Imbrbn¡H$s H$moUVo EÝPmB‘ dmnabo OmVo?
1) a-Amylase 2) Catalase 3) Pectinase 4) Lactase

6) Which of the following enzyme is used in citrus juice extraction ?

1) a-Amylase 2) Catalase 3) Pectinase 4) Lactase
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7) AÞYmÝ¶mMr ‘mJUr àm‘w»¶mZo .......... ‘wio dmT>br Amho.
a) bmoH$g§»¶oMr doJoZo dmT> b) CËnÞmVrb dmT>
c) AÞYmÝ¶mMo H$‘r CËnmXZ d) AÞYmÝ¶mÀ¶m H$‘r qH$‘Vr
n¶m©¶r CÎmao …
1) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.

7) The foodgrain demand had risen mainly due to ............

a) rapid increase in population b) rise in income level

c) low foodgrain production d) low prices of foodgrains

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (c) and (d) are correct 4) Statements (a), (b), (c) and (d) are correct

8) Joë¶m XmoZ XeH$mV, ^maVmVrb AÞYmÝ¶mÀ¶m CËnmXZmMr dmT> ‘§Xmdbr Amho H$maU ............
a) AÞYmÝ¶ {nH$mImbrb joÌmV KQ> hmoD$Z BVa {nH$mImbrb joÌmV dmT> Pmbr
b) Cƒ CËnmXZ j‘VoÀ¶m nÅ>`m‘Ü ò Z¡g{J©H$ g§gmYZmÀ¶m èhmgm‘wio emídVrH$aUm‘Ü¶o CX²̂ dUmao àíZ
c) gZ 2001-02, 2002-03 Am{U 2004-05 ¶m dfm©‘Ü¶o nS>bobm XþîH$mi
d) AÞYmÝ¶ {Z¶m©Vrda bmXbobo {Z~ªY
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (a), (b) Am{U (c) {dYmZo `mo½` AmhoV.
3) (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 4) darbn¡H$s gd© {dYmZo ¶mo½¶ AmhoV

8)  During the last two decades, the growth of foodgrains production in India has decelerated on

account of

a) fall in area under foodgrains due to diversification to other crops

b) deceleration in yield due to emerging issues of sustainability arising out of degradation of

natural resources in high potential belts

c) occurrence of drought in years 2001 — 02, 2002 — 03 and 2004 — 05

d) imposition of export restrictions on foodgrains

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (a), (b) and (c) are correct

3) Statements (b), (c) and (d) are corrected 4) All the above statements are correct

9) A°{Z{‘`m ‘wº$ ^maV A§VJ©V {H$emoad`rZ ‘wbm§Zm H$moUË`m dma§dmaVoZo bmoh nyaH$ Amhma {Xbm OmVmo?
1) IFA Q>°ãboQ> (60 mg KQ>H$ bmoh + 500 mcg ’$m°{bH$ A°{gS>) gmám{hH$
2) IFA Q>°ãboQ> (100 mg KQ>H$ bmoh + 500 mcg ’$m°{bH$ A°{gS>) Xa ‘{hÝ`mbm
3) XaamoO 1 IFA Q>°ãboQ>
4) darbn¡H$s H$mhrhr Zmhr

9) Under Anaemia Mukt Bharat which iron supplementation is given to abdolescents with what

frequency ?

1) IFA tablet (60 mg elements iron + 500 mcg Folic Acid) weekly

2) IFA tablet (100 mg elemental iron + 500 mcg Folic Acid) every month

3) Daily 1 IFA tablet

4) None of the above
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10) Imbrbn¡H$s H$moUË`m H$‘VaVo‘Ü ò Ho$gm§Mo Po~«m pñQ´qnJ d¡{eï²>`nyU©nUo AmT>iVo?
1) OñV 2) ’°$Q>r A°{gS> 3) ~m`mo{Q>Z 4) pìhQ>°{‘Z E

10) In which of the following deficiency, zebra stripping of hair is characteristically found?

1) Zinc 2) Fatty acid 3) Biotin 4) Vitamin A

11) Imbrbn¡H$s H$moUVm AmOma ~mbnUmVrb bÇ>nUm Am{U Ë`mÀ`m àH$Q>rH$aUmer g§~§{YV amoJmgmR>r `mo½`arË`m OwiV
Zmhr?
1) Hw$qeJ qgS´mo‘ - A°SóZb hm`naßbm{g`m qH$dm {nQ>çyQ>ar Q>çy‘a
2) ‘m`bmo{S>ñßbm{g`m - ñnm¶Zm ~m¶{’$S>m
3) hm`nmoBÝgw{b{ZP‘ - Zo{g{S>AmoãbmñQ>mo{gg
4)ñ ỳS>mohm`nmon°amWm`am°B©S>rP‘ - n[adV©Zr` hm`nmoH°$ëgo{‘`m

11) Which among the following is NOT correctly matched for Disease Associated with Childhood

Obesity and its manifestation?

1) Cushing syndrome - Adrenal hyperplasia or pituitary tumor

2) Myelodysplasia - Spina bifida

3) Hypoinsulinism - Nesidioblastosis

4) Pseudohypoparathyroidism - Variable hypocalcemia

12) Imbrbn¡H$s H$moUVo Cnm` {gñQ>o{‘H$ hm`naQ>oÝeZMm YmoH$m H$‘r H$aÊ`mg ‘XV H$ê$ eH$VmV?
a) AmhmamVrb gm‘mÝ` ‘rR>mMo godZ H$‘r H$aUo. b) d`mZwgma dOZ {Z §̀{ÌV H$aUo
c) d¡̀ {º$H$ OrdZe¡brV ~Xb d) Vm|S>r J ©̂{ZamoYH$ Jmoù`m§Mm dmna.
n¶m©¶r CÎmao …
1) a Am{U b ’$º$ 2) c Am{U d ’$º$ 3) a, b Am{U c ’$º$ 4) darbn¡H$s H$mhrhr Zmhr

12) Which of the following measures can help to reduce the risk of systemic hypertension ?

a) Reduction in dietary intake of common salt. b) Controlling weight for age

c) Modification of personal lifestyle d) Use of oral contraceptive pills.

Answer Options :

1) a and b only 2) c and d only 3) a, b and c only 4) none of the above

13) nmofU nwZd©gZ H|$Ð (NRC) ‘YyZ gmoS>Ê`mV Amboë`m J§̂ ra Vrd« Hw$nmofUmÀ`m ~mbH$mMo {ZarjU A§JUdmS>r go{dHo$Zo
(AWW) Imbrbn¡H$s H$moUË`m doimnÌH$mZwgma Ho$bo nm{hOo?
1) AmR>dS>çmVyZ EH$Xm n{hë`m ‘{hÝ`mgmR>r Am{U Z§Va AmR>dS>çmVyZ XmoZXm
2) n{hë`m ‘{hÝ`mV AmR>dS>çmVyZ XmoZXm Am{U Z§Va AmR>dS>çmVyZ EH$Xm
3) AmR>dS>çmVyZ EH$Xm n{hë`m ‘{hÝ`mV Am{U Z§Va n§YadS>çmVyZ EH$Xm
4) n{hë`m ‘{hÝ`mV AmR>dS>çmVyZ XmoZXm Am{U Z§Va n§YadS>çmVyZ EH$Xm

13) Child of severe acute malnutrition discharged from Nutritional Rehabilitation Centre (NRC)

should be observed in community by an Anganwadi Worker (AWW) as per which one of the

following schedules ?

1) Once a week for first month and then twice weekly

2) Twice weekly in the first month and then once a week

3) Once a week for first month and then once fortnightly

4) Twice weekly in the first month and then once fortnightly
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14) g§emoYZmÀ`m Aä`mgmV 11 (AH$am) Xoem§‘Yrb EHy$U Ma~rÀ`m nwadR>çmgh AëPm`‘a amoJmMm àmXŵ m©d Aä`mgbm
Jobm. Ë`m§Zr Zm|Xdbo H$s EHy$U Ma~rMm nwadR>m AëPm`‘a amoJmÀ`m àgmamer OmoaXmanUo g§~§Y Amho.
Imbrbn¡H$s H$moUVo darb E{nS>o{‘`mobm°{OH$b nÕVrMo gdm}Îm‘ dU©Z H$aVo?
1) n`m©daUr` Aä`mg 2) g‘wXm` MmMÊ`m
3) H«$m°g goŠeZb ñQ>S>r 4) nÕVera nwZamdbmoH$Zo

14) "In research study investigation studied the prevalence of Alzheimer's disease along with total fat

supply in 11 (Eleven) countries. They reported that total fat supply is strongly correlated with

prevalence of Alzheimer's disease."

Which of the following best describes the above epidemiological method ?

1) Ecological study 2) Community trials

3) Cross sectional study 4) Systematic reviews

15) AÞ gwajm Am{U ‘mZH$ H$m`Xm 2006 Zwgma AÞ åhUyZ n[a^m{fV Ho$boë`m {d{dY nXmWmªn¡H$s Imbrb AmhoV/AmhoV.
a) AZwdm§{eH$[aË`m gwYm[aV qH$dm A{^`m§{ÌH$s AÞ b) AÞ CnMma H$aVmZm dmnabobo nmUr
c) {Od§V àmUr d) Am¡fYo Am{U Am¡fYr CËnmXZo
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©

15) Following is/are among the various substances defined as “Food” according to “Food Safety and

Standards Act 2006”.

a) Genetically modified or engineered food b) Water used during treatment of food

c) Live animals d) Drugs and medicinal products

Which of the above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) All of the above

9) AÞà{H«$¶m
1) AmYw{ZH$ Vm§Xyi {JaÊ`m§Ûmao Ho$ë¶m OmUmè¶m à‘wI à{H«$¶m.........

A) ñdÀN>Vm ~) ŵg ŵerV H$) doJio H$aUo S>) YwUo
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) A, H$ Am{U S> 3) A, ~ Am{U S> 4) A, ~ Am{U H$

1) The major operations performed by modern rice mills are

a) Cleaning b) Husking c) Separation d) Washing

Answer options :

1) a and b only 2) a, b, c and d 3) a, b and d 4) a, b and c

2) ñQ>°{’$bmoH$moH$b ImÚ {df~mYm ...... hmoVo.
1) AmYr V¶ma Ho$bobo EÝQ>amoQ>m°³grZ A§VJ«©hU Ho$ë¶m‘wio
2) {dfmÀ¶m {Z{‘©VrZ§Va íboî‘b n¥ð>^mJmMo dgmhVH$aU Ho$ë¶m‘wio
3) ñWm{ZH$ {dfmÀ¶m {Z{‘©VrZ§Va OI‘oMo qH$dm JiwMo dgmhVH$aU Ho$ë¶m‘wio
4) darb gd© H$maUm§‘wio
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2) Staphylococcal food poisoning is caused by .................

1) ingestion of preformed enterotoxin

2) colonisation of muscosal surface followed by production of toxin.

3) colonisation of wound or abscess followed by local toxin production

4) All of the above reasons

3) hdm~§X S>ã¶mVrc ImÚnXmWmª‘Ü¶o H$moUVm OrdmUy dmT>Ê¶mMr e³¶Vm AgVo ?
1) ñQ>m°{’$cmoH$moH$g 2) ~m{gcg 3) ñQ´>oßQ>moH$moH$g 4) ³cmopñQ´>{S>¶‘

3) Which of the following bacterial can grow in airtight sealed food containers ?

1) Staphylococcus 2) Bacillus 3) Streptococcus 4) Clostridium

4) H$moaS>r H$S>YmÝ¶o, gmIa, nrR>, hdm~§X Ho$bobr ’$io d ^mÁ¶m, hr gd© CXmhaUo Imbrbn¡H$s H$moUË¶m àH$maÀ¶m
AÞnXmWm©Mr AmhoV ?
1) Zmed§V nXmW© 2) CnmÝË¶ Zmed§V nXmW©
3) {Q>H$mD$ qH$dm pñWa nXmW© 4) darbn¡H$s H$moUVohr Zmhr

4) Dry beans, flour, sugar, canned fruits and vegetables are examples of which of the following

foods?

1) Perishable foods 2) Semi-perishable foods

3) Non-perishable or shelf stable foods 4) None of the above

5) XwYmVrc hmZrH$maH$ O§Vy§Mm (~°ŠQo>[a`m) Zme H$aÊ`mÀ`m à{H«$ òcm H$m` åhUVmV?
1) nmíMam`PoeZ 2) ñQ>[acm`PoeZ 3) hmo_mo{PZm`PoeZ 4) _m°BñMam`PoeZ

5) The process used for destroying harmful bacteria in milk is known as

1) Pasteurization 2) Sterilization 3) Homozinization 4) Moisturization

6) Imcrc {dYmZm§Mr gË¶Vm nS>Vmim.
"AÞ g§ajU g{‘Vr" àH$meZ 398 Ûmam amgm¶{ZH$ nXmWm©À¶m AÞà{H«$¶oVrc dmnamg§~§Yr Imcrc ‘mJ©Xe©H$ VÎdo
{Xcocr AmhoV. Ë¶m§Mr gË¶Vm nS>Vmim.
a) AÞmMo gÎd {Q>H${dÊ¶mgmR>r A°ÝQ>rAm°³grS>§Q>Mm dmna
b) AÞ {Q>H$dyZ R>odÊ¶mgmR>r A°ÝQ>r‘m¶H«$mo{~Ac d BZQ>© J°gMm dmna.
c) a§J d Md XoUmè¶m nXmWmªMm dmna H$éZ AÞmMo gwemô rH$aU H$aUo.
>d) AÞ à{H«$¶oV ~’$g© Mm dmna H$aUo.
n¶m©¶r CÎmao …
1) gd© {dYmZo gË¶ AmhoV 2) (a), (b), (c) gË¶
3) (a) Am{U (d) gË¶ 4) gd© {dYmZo AgË¶ AmhoV.

6) Which of the following statements are true? The guidelines for "the use of chemical additives in

food processing? by Food Protection Committee in publication 398 include :

a) Use of antioxidants to maintain nutritional value

b) Use of anti microbial agents and inert gases for food stability.

c) Use of colouring and flavouring agents to enhance the attractiveness.

d) Use of buffers in food processing.

Answer Options :

1) All are true 2) (a),(b),(c) are true

3) (a) and (d) are true 4) All are false
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7) ’$im§À¶m d ^mÁ¶m§À¶m {dV§MH$s¶ Vm§~wgrH$aUmg Vnm{H$arnUm H$maUr ŷV ‘w»¶ {dV§MH$ H$moUVo?
1) noam°p³gS>oO 2) nm°{b’o$Zm°b Am°p³gS>oO
3) H°$Q>°boO 4) H$moboñQ>oam°b Am°p³gS>oO

7) The key enzyme involved in enzymatic browning of fruits and vegetables is

1) Peroxidase 2) Polyphenol oxidase

3) Catalase 4) Cholesterol oxidase

8) XwYmVrc hmZrH$maH$ O§Vy§Mm (~°ŠQo>[a`m) Zme H$aÊ`mÀ`m à{H«$ òcm H$m` åhUVmV?
1) nmíMam`PoeZ 2) ñQ>[acm`PoeZ
3) hmo_mo{PZm`PoeZ 4) _m°BñMam`PoeZ

8) The process used for destroying harmful bacteria in milk is known as

1) Pasteurization 2) Sterilization

3) Homozinization 4) Moisturization

10) AÞgwajm d H$m¶©H«$‘
1) Imbrbn¡H$s H$moUË¶m d`moJQ>mVrb ‘wbm§Zm amï´>r` AÞ gwajm H$m`Xm, 2013 Zwgma nmofU{df`H$ JaOm {‘iÊ`mMm

A{YH$ma Amho ?
1) 0 Vo 6 df} 2) 6 Vo 14 df} 3) 0 Vo 14 df} 4) darbn¡H$s H$mhrhr Zmhr

1) The children of following age are entitled to nutritional needs as per the National Food Security

Act, 2013 :

1) 0 to 6 years 2) 6 to 14 years 3) 0 to 14 years 4) None of the above

2) nmdgmda Adb§~yZ eoVr àXoemVyZ OJmg EHy$U ImÚmÝ¶mÀ¶m ....... Q> o̧$ AÞnwadR>m hmoVmo.
1) 50 2) 60 3) 70 4) 75

2) ........ percent of world’s staple food is harvested from rainfed areas.

1) 50 2) 60 3) 70 4) 75

3) ............ gmbmÀ¶m ‘Ü¶mn ª̀V, Am`mV Ho$bobo AÞYmÝ`, gmd©O{ZH$ {dVaU àUmbr A§VJ©V ‘moR>çm à‘mUmV nwa{dbo
Jobo.
1) 1965 2) 1970 3) 1975 4) 1980

3) Upto mid ............, the Public Distribution System was fed to a considerable extent by imported

foodgrains.

1) 1965 2) 1970 3) 1975 4) 1980

4) 1995 ‘Ü ò JìhmMr IaoXr 1965 À`m VwbZoV ............. nQ>tZr dmT>br.
1) 27 2) 30 3) 33 4) 36

4) The procurement of wheat in 1995 increased by ............. fold from that of 1965.

1) 27 2) 30 3) 33 4) 3



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 118

For Private Circulation Only

5) ñWm{ZH$ nmVirdaMm XwîH$mi Am{U Iwë`m Hw$nmofUmnmgyZ Xya amhUo ho ................ Mo à‘wI C{Ôï> Amho.
1) AÞ gwajm 2) ñd §̀nyU©Vm 3) AÞ YmoaU  4) VyQ> CËnmXZ

5) To avoid localised widespread famine and open undernutrition is one of the principal objectives

of .................

1) food security 2) self-sufficiency 3) food policy 4) deficit production

6) Imbrbn¡H$s H$moUVo V¥UYmÝ` nrH$ AmOH$mb nmofH$ AÞYmÝ` åhUyZ AmoiIbo OmVo?
1) AmoQ²g 2) Jhÿ 3) Ádmar 4) ^mV

6) Which of the following cereal crop nowadays is recognized as “nutri-cereal ?

1) Oats 2) Wheat 3) Sorghum 4) Paddy
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CÎmao … (4) AÞ Am{U nmofU - ‘°H«$mo d gyú‘ nmofU Ðì¶o, OrdZgÎdo

1) Cî‘m§H$, AÞ d nmofH$ KQ>H$
1-3 2-1 3-3 4-2 5-3 6-3 7-3 8-3

2) H$~m}XHo$
1-2 2-4 3-1 4-4 5-3 6-3

3) à{WZo
1-1 2-3 3-2 4-2 5-2 6-1 7-1 8-4 9-3 10-1
11-1 12-3 13-3 14-2 15-3

4) pñZ½Y d ‘oX nXmW©
1-1 2-4 3-4 4-3 5-1 6-4 7-1 8-2 9-2

5) jma - ‘°H«$mo d gyú‘ nmofU Ðì¶o
1-3 2-2 3-3 4-4 5-2 6-1 7-1 8-4 9-1 10-1
11-1 12-2 13-1 14-4

6) OrdZgÎdo
1-3 2-2 3-3 4-4 5-4 6-3 7-1 8-2 9-1 10-3
11-2 12-1 13-1 14-2 15-1 16-3 17-1 18-2 19-2 20-3

21-3 22-4 23-2 24-3

8) Amhma - H$wnmofU, AÞ Am{U nmofU H$m¶©H«$‘
1-3 2-1 3-4 4-3 5-4 6-1 7-2 8-3 9-3 10-2
11-2 12-4 13-3

AÞYmÝ¶ nwadR>m d à{H«$¶m
1-2 2-1 3-3 4-3 5-3 6-3 7-1 8-4 9-1 10-1

11-3 12-3 13-3 14-1 15-2
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9) AÞà{H«$¶m
1-4 2-1 3-4 4-3 5-1 6-1 7-2 8-1

10) AÞgwajm d H$m¶©H«$‘
1-3 2-3 3-2 4-3 5-3 6-3


